Hello,
There are 5 buffers in the code.
This indicator uses buff 0 to show only green colored histogram.
And it uses buff 1 to show only red colored histogram.
I think this allocation of buffers is NOT efficient way.
I hope it shows green colored and red colored histograms with one buffer.
I mean positive(+) value for green colored histogram and negative(-) value for red colored histogram should be displayed as a numerical value in buffer 0(v1 of Data Window).
It would be more efficient way than before.
If it uses 1 buffer for green and red histograms, then the whole buffers used would be just 4 buffers(buffer 0, 1, 2 and 3).
This indicator shows green colored up_arrow below candle, red colored dn_arrow above candle, green colored dot below candle and red colored dot above candle.
When it shows arrows and dots on chart, there is no numerical values in Data Window.
So I hope that the arrows and dots have numerical values in Data Window.

Buffer 4 - green colored up_arrow
Buffer 5 - red colored dn_arrow
Buffer 6 - green colored dot
Buffer 7 - red colored dot

